k&AM FEX X 03
1. OMIZEZ L. (SH12308, Afk24, B3 7, Ckd 308 )

(1) HEp#EH25km T24 947 < &l m LD, (2)  50km % 3 20 »THL &
T XL REEEAA] km 72,

(3)  15km Z42# 180m T3 & (4)  1500m %K 4km TI7< &
AT AATRD 52702 % 7. [AIAMATRD D3P B Do
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2.

(1)

(3)

IRORNZEZ XK. (SHK1230%, Afk24, B#3 D, C#k44 308 )

RFEE 45 km T 36 707 < & fif m ET D>, (2)  45km Z 2Hf 15 7 &
T XL RE AT km 72,

16km %77 240 m Tf7< & (4)  1800m ZMKf®E Skm TI7< &
AT ATRD 270> % 3. AIAMATRD DD B Do
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RETAN HES F 03 MBEMSR
1. WOMIZEZL. (SHK1330%, A¥k24, B&K3 43, CHkas30% )

X EEFLEDER () WIFRADEBIE.
1 T || I~ km (~km/h) | 2&FE~m (~m/7) | BE#E~m (~m/s)
U - R ~ [ (~h) ~ ~® (~s)
& - DR ~ km ~m ~m

YR X OMETIE, BAITHEE.

50km % 3 R¢ff] 20 3 Cir< &
X T REE ] km 2.

(1) HEp#EH25km T 24 947 < &l m LD, (2)

* RI=2ELEDR
(=GP g<1 25km/h * EEI=F L EDER
U - m 24%:%11 o 7 km/h
E T L - B 3%?520%:3%11
& - hAE 50 km
* BEEE = EE  x BEE
7 = 2%km/h x %h *ES = BB - B
— 25km/h x %h 7= S0km+ S%h
— 10km — 50km & 3%h
= 15km/h

10km = 10000 m

(3)  15km Z# 180m TI7< & (4)  1500m ZHKF#E 4km TIF< &
Al el FD D3 7> B 7>, Al 53] FD 73 70> B 3.
* EEsELEDx * EIsELEDER
=GPt g<t 180 m/ 47 (= Qe 4km/h
U R 7 43 U R 7's
& - PEEE || 15km = 15000 m & - PEEE | 1500 m = 1500 = 1000 = 1.5 km
* B PERE - &S * BffEl = EERE 0+ &S
7 = 15000m + 180m/4% 7 = 15km <+ 4km/h
15000 45 _ 3y
180 8
15000 ; _ 250 3 _ g0l 34 So3 45 0 ool g
120 h_3h_833§3 8h 6063><8 263 22263

l ;= U\ l: Up
353 60 ¥ x 3 20 ¥

83 4 20 ¥

1o 1
253—6Os>< 5 =305

22 9 30 %
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2. MOMIZEZ L. (SH12308, Afh24, B3 2, Cfk443 308 )

* EEFELEDR

() NIZBALDEIKIE.

- T || R~ km (~km/h) | 2~ m (~m/457) | B~ m (~m/s)
U - KlH ~ K] (~h) ~ 73 ~# (~s)
& - HHAE ~km ~m ~m

YR I OMETIE, BALIZHER.

(1)  MHE 45km T 36 9017 < &l m L. (2)  45km % 2Wif 15 7 &
T X E A ki .
* EXslFLEDER
(=GP §<1 45 km/h * EEI=FLEDER
L - B 3663\:%h R 7 km/h
X . UEEE 7 km U - R || 2 KR 15 5 = Z%h
= - FHEE 45km
* Bt = HEX  x BEHE
7 = 45km/h x %h *EX = BB - B
) 15
— 97km - 45km = 25h
= 20km/h
27 km = 27000 m
(3)  16km 2@ 240m Tir< & (4)  1800m % Hf# 8km THr< &
AT AATRD 52702 % 3. [AIAMATRD D3P B Do
* EEFILEDER * EEsFLEDER
(=GP g<1 240 m/ 73 =GP §<1 8km/h
U - 7 5 U - RFfE 7 s
= - PEEE || 16km = 16000 m & - PEEE || 1800 m = 1800 = 1000 = 1.8 km
) dicdt PR - ES * B = EREE -+ ES
7 = 16000m -+ 240m/%} 7 = 18km =+ 8km/h
16000 4 _ 94
240 40
16000 ; _ 200 1 _ an2 4 9 enm e 9 2T 4 al g
510 h = 3 h_663§j 40h 60;3><40 5 %) 13273
245 —60f x 2 — 407 Lo —60sx L =305
3 2 2
66 9 407 1349 30 %
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